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1.
The atomic number of chromium is ____.
a) 6
b) 24
c) 28
d) 48
e) 52

Answer: b
2.
An atomic mass unit (u) is defined as

a) the mass of one hydrogen-1 atom.

b) the mass of one carbon-12 atom.

c) 1/12 the mass of one carbon-12 atom.

d) 1/8 the mass of one oxygen-16 atom.

e) the sum of the masses of one proton, one neutron, and one electron.

Answer: c

3.
What is the mass number of a nickel atom with 31 neutrons?

a) 3
b) 28
c) 31
d) 58
e) 59

Answer: e
4.
How many protons, neutrons, and electrons are in a yttrium-89 atom?

a) 39 protons, 50 neutrons, 39 electrons
b) 39 protons, 89 neutrons, 39 electrons

c) 39 protons, 50 neutrons, 50 electrons

d) 50 protons, 39 neutrons, 50 electrons

e) 39 protons, 11 neutrons, 39 electrons

Answer: a
5.
What is the atomic symbol for an element with 38 protons and 50 neutrons?

a) 
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Mg


b) 
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38

V


c) 
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38

Sr


d) 
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Sn


e) 
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Ra


Answer: c
6.
Which of the following atoms contains the fewest protons?

a) 
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Rh


b) 
[image: image7.wmf]102

Pd


c) 
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Cd


d) 
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Ag


e) 
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Ru


Answer: e
7.
Which of the following atoms contains the largest number of neutrons?

a) 
[image: image11.wmf]24

12

Mg


b) 
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Mg


c) 
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Na


d) 
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Al


e) 
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Si


Answer: e
8.
Europium has two naturally occurring isotopes. The average mass of Eu is 151.965 u. If 47.8% of Eu is found as Eu-151 (150.919847 u), what is the mass of the other isotope?

a) 1.04 u
b) 144.8 u
c) 152.9 u
d) 153.1 u
e) 158.1u

Answer: c

9. Copper has an average atomic mass of 63.55 u. If 69.17% of Cu exists as Cu-63 (62.93960 u), what is the identity and the atomic mass of the other isotope?

a) Cu-64; 63.82 u
b) Cu-64; 64.16 u 

c) Cu-65; 64.16 u
d) Cu-65; 64.92 u
e) Cu-66; 65.91 u

10.
How many elements are in the second period of the periodic table?

a) 6
b) 8
c)  18
d) 32
e) 40

Answer: b
11.
What element is in the fifth period in Group 3A?

a) Si
b) Ga
c) In
d) Sb
e) Tl

Answer: c
12.
In which group of the periodic table do the elements all consist of diatomic molecules?

a) 2A
b) 5A
c) 6A
d) 7A
e) 8A

Answer: d
13.
Which of the following elements is not a metalloid?
a) boron
b) gallium
c) germanium
d) arsenic
e) tellurium
Answer: b
14.
The formula for acetic acid, CH3CO2H, is an example of a(n)

a) condensed formula.
b) empirical formula.

c) structural formula.

d) ionic compound formula.
e) mass spectrum.

Answer: a
15.
A sulfide ion has ________ electrons.

a) 14
b) 15
c) 16
d) 17
e) 18

Answer: e

16.
A magnesium ion has ________ electrons.

a) 10
b) 11
c) 12
d) 13
e) 14

Answer: a
17.
Identify the ions in CaHPO4.

a) Ca2+ and PO43-
b) Ca2+ and HPO42-
c) Ca+ and HPO4-
d) Ca3+ and HPO43-
e) Ca2+, H+, P3-, and O2-
Answer: b
18.
What charge is likely on a monatomic silver cation?

a) 2-
b) 1-
c) 1+
d) 2+
e) 3+

Answer: c
19.
Sodium sulfate has the chemical formula Na2SO4. Based on this information, the formula for titanium(IV) sulfate is __________.

a) TiSO4
b) Ti(SO4)4
c) Ti(SO4)2
d) Ti2SO4

e) Ti3(SO4)2
Answer: c
20.
What is the correct formula for cobalt(III) carbonate?

a) CoCO3
b) Co3(CO3)2
c) Co2(CO3)3
d) Co(CO3)3
e) Co3CO3
Answer: c
21.
What is the correct name for NH4NO3?

a) ammonia hydrogen nitrate
b) ammonia hydrogen nitride
c) ammonium nitric acid
d) ammonium nitrate
e) ammonium nitride
Answer: d
22.
Which of the following statements concerning ionic compounds is/are correct?
1.
As ion charges increase, the attraction between oppositely charged ions increases.

2.
Although not electrically conductive like metals, ionic compounds are malleable.

3.
Positive and negative ions are attracted to each other by electrostatic forces.

a) 1 only
b) 2 only
c) 3 only
d) 1 and 3
e) 1, 2, and 3
Answer: d
23.
What is the correct name for SF2?

a) sulfur fluoride

b) sulfur difluoride

c) disulfur fluoride

d) disulfur difluoride

e) sulfide difluoride

Answer: b

24.
Calculate the number of moles in 0.093 g Zn.

a) 0.0014 mol
b) 0.16 mol
c) 6.1 mol
d) 7.0 × 102 mol
e) 8.6 × 1020 mol
Answer: a
25.
What is the mass of 0.018 mol Mg?

a) 4.0 × 10-23 g
b) 7.4 × 10-4 g
c) 0.44 g
d) 2.3 g
e) 1.4 × 103 g
Answer: c
26.
A molecule is found to contain 64.27% by mass C, 7.191% by mass H, and 28.54% by mass O. What is the empirical formula for this molecule?

a) C2H6O
b) C3H4O
c) C3H8O2
d) C4H6O2
e) C4H8O3
Answer: b
27.
A 3.592 g sample of hydrated magnesium bromide, MgBr2·xH2O, is dried in an oven. When the anhydrous salt is removed from the oven, its mass is 2.263 g. What is the value of x?

a) 1
b) 3
c) 6
d) 8
e) 12
Answer: c
28.
A 2.000 g sample of  FeF2·xH2O is dried in an oven. When the anhydrous salt is removed from the oven, its mass is 0.789 g. What is the value of x?

a) 1
b) 3
c) 6
d) 8
e) 12
Answer: d
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